FA-H7074-)b:

(&5 %] DF22sx2_KH8x

[#EZ] Multifunction Decoder FxOnly
[FRBA] HoV RFI-HKENE ZALRTA

[7RLA] 3

CcvV  |ERHH & 16 |[VATY B30

Ccvl [E7FLZA 3 0x03 0000 0011

CV3 |[InEE 10 0x0a  [0000 1010

CV4  [BuRE 3 0x03 0000 0011

CV5 |IAEE 0 0x00 (0000 0000

cv? |EEsuN-JavES 1 0x01 0000 0001

cvs |HELSHID 103 0x67 0110 0111 |SNJPN:Nagasue System Design Office

cVvitl |IN\gyba4 L7 ME 100 0x64 0110 0100

CV17 |¥EEE7 EL A 192 OxcO  |1100 0000

CVi18 |#EsRT7 FLA 0 0x00  |0000 0000

CV19 [#4ET7FLA 0 0x00  |0000 0000

CV21 [#8487 FLAXIES F1-F8 255 Oxff 1111 1111

CV22 #8487 RLAXtIS FL-F9-F12 |255 Oxff 1111 1111

CV29 |NERERTEH#T 22 0x16  |0001 0110 |bit5=2byte,
bit2=7F+OJ 1k
bit1=FL,
bit0=7 A

CV33 [AYRSA MBS 68 0x44  |0100 0100 |bit(7-4) 5L {E |
bit(3-0)JB L $E R Fno
* AL {E=4/15,

FATRA

CV35 |FX1 96 0x60 |0110 0000 |bit7=END#I{HI(2END),
bit6=END|f#I(1END),
bits=75 M EHA =1k,
bitd=g kT 57 (=0:Fi) (=118),
bit(0-3) = FnogE(0-12) ,14=H = «T

CV36 |FX2 176 0xb0 1011 0000 |bit7=ENDHI{EI(2END),
bit6=END#I|fEI(1END),
bits=75 R EH A zh1k,
bit4= 52 kT /5 RI(=0:A1T) (=11%),
bit(0-3) = Fno§E(0-12) ,14=5 s T

CV43 |ERITHLETE 15 0xOf 0000 1111 |bit(7-4)iHILIE |
bit(3-0)iE L $E R Fno
*HE3N

CV46 |LOCK FX DIR 15 0xOf  |0000 1111

CV49 |Product No 189 Oxbd 1011 1101

CV50 |Sound Volume 240 0xf0 1111 0000

CV54 |[Start Delay 2 0x02 0000 0010

CV58 |DC_MODE 71 0x47 0100 0111 |(bit7.bit0) = (F7..FO)

CV59 |DC_MODE 0 0x00  |0000 0000 |(bit4.bit0) = (F12..F8)

CV60 |DF22sx2KH8x Specific 24 0x18  |0001 1000 |bit7=EMERG_DECEL,

Configuration bit6=STOP_BRAKE,
bit4=stopdim,
bit3=AckFull,
bit1=
bit0=

CV61 |EfEMEERE (51 FFXFA) 3 0x03  |0000 0011 |bit1=2ENDH £ XT,bit0=1END{H £ KT

CV62 |FX FxDecay / FxRate 196 Oxc4 1100 0100 |FxDecay(bit7-4),
FxRate(bit3-0)

CV63 |¥isRFXEASA 13 0x0d  |0000 1101 |bit7=END#I{HI(2END),
bit6=END#|{EI(1END),
bits=75 M EHA =1k,
bitd=5 kT /5 RI(=0:A1) (=17%),
bit(0-3) = Fnog%E(0-12) ,14=H = &T

CV64 |Brake Config 10 0x0a 0000 1010  [(bit7-4)BrakeTimming,
bit3=AutoBrake,
bit2=Accel Sens
bit1,0=BrakeSens

CV105 |FTA & EE #1 0 0x00 0000 0000

CV106 |FREEE = #2 0 0x00  |0000 0000

CV112 |[F1EBE /AT K FE R 246 0xf6 11110110 |bit(7-4)iB LB

bit(3-0)XT A FE 3
0000=normal
0001=flushing
0010=fast flushing
0011=beacon
0100=1strobe
0101=2strobe
0110=flicker
0111=FL light
1000=fade light
10001=flushing reverse
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Ccv  |ZkHH & 16 |VATY S
CV113 |F2BRE /4T KFEHI 246 0xf6 1111 0110 [bit(7-4)JFKSElE
bit(3-0)kT A F& 5l
0000=normal
0001=flushing
0010=fast flushing
0011=beacon
0100=1strobe
0101=2strobe
0110=flicker
0111=FL light
1000=fade light
10001=flushing reverse
CV120 [sound Mode 144 0x90  [1001 0000 |bit7=7FATYIV EEH
bit6= 7L SWHERE
bit5=
bitd=JL—F &
bit3=7A)L1—)L2:E& R
bit2=whistle2;Z IR
bit1=
bit0=
CV121 [sound Mute 8 0x08 0000 1000 |bit(0-3) = FnotgE(0-12) ,14=F k&)
*F8CIES)
CV141 |BRKOOSPEED 12 0xOc  |0000 1100 |JL—FBHRTEEE
CV142 |BRKO1SPEED 24 0x18  |0001 1000 |JL—FBHRTEEE
CV150 [MOOSPEED 1 0x01  |0000 0001 |MOTORE & EE
CV151 [MO1SPEED 18 0x12  |0001 0010 |MOTORE &% & & &
CV160 | IVIVIRE 0 0x00  |0000 0000
CV161 |volume IV I VIRE) 192 0xc0 1100 0000 |bit(6-7)-H = 4E&FE
CV162 |IVJVIDLE 0 0x00  |0000 0000
CV163 |volume T VIDLE 192 O0xcO  |1100 0000 |bit(6-7)-F = 4E5[E
CV164 [fin:&E 31 ox1f 0001 1111 |bit(7-6)=A [AIHE) (00:both 01:fwd 10:rev 11:both
bit(0-4) = FnotgE(0-28)
31EME
CV165 |volume & 192 0xc0 1100 0000 |bit(6-7)-H = 4F&FE
CV166 |jF&E 31 ox1f 0001 1111 |bit(7-6)=A [AIHE) (00:both 01:fwd 10:rev 11:both
bit(0-4) = FnogE(0-28)
31EME
CV167 |volume F&E 192 0xc0 1100 0000 |bit(6-7)-H = 4F&FE
CV172 |RAKY 2 0x02  |0000 0010  |bit(7-6)=75 M {E (00:both 01:fwd 10:rev 11:both
bit(0-4) = FnogE(0-28)
31EME
CV173|volume B{ ik 192 0xc0 1100 0000 |bit(6-7)-H = 4F&FE
CcVi74|JL—% 3 0x03  |0000 0011  |bit(7-6)=75 M (00:both 01:fwd 10:rev 11:both
bit(0-4) = FnogE(0-28)
31EME
CV175 |volume FL—F 204 Oxcc |1100 1100 |bit(6-7)=-Z = 4K : JL—F17
bit(2-3)=F = 4EZRE : TL—F 2%
CV176 |doorBFH 39 0x27  |0010 0111  |bit(7-6)=7 M {E (00:both 01:fwd 10:rev 11:both
bit(0-4) = FnogE(0-28)
31EME
CV177 lvolume doorBER 192 0xcO _ |1100 0000 |bit(6-7)-F = 4E5[E
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CcV

e

165

NATY

B3

CV178

ATS

0x04

0000 0100

bit(7-6)=75 M #l{E (00:both 01:fwd 10:rev 11:both
bit(0-4) = Fnog E(0-28)
3EE

CV179

volume ATS

192

0xc0

1100 0000

bit(6-7)=H = 4EXFE

CV180

0x06

0000 0110

bit(7-6)=75 M #l{E (00:both 01:fwd 10:rev 11:both
bit(0-4) = Fno¥g E(0-28)
3EE

CV181

volume &

192

0xc0

1100 0000

bit(6-7)=H = 4EXFE

CV182

JVF

11

0x0b

0000 1011

bit(7-6)=75 R #l{& (00:both 01:fwd 10:rev 11:both
bit(0-4) = Fno¥g E(0-28)
3EE

CVv183

volume JYF

192

0xc0

1100 0000

bit(6-7)=H = 4E%[E

CV184

BN

21

0x15

0001 0101

bit(7-6)=75 M #l{E (00:both 01:fwd 10:rev 11:both
bit(0-4) = Fno¥g E(0-28)
3EE

CV185

192

0xc0

1100 0000

bit(6-7)=H = 4E%[E

CV186

volume FREN)
J9-

22

0x16

0001 0110

bit(7-6)=75 M #l{& (00:both 01:fwd 10:rev 11:both
bit(0-4) = Fno¥g E(0-28)
3EE

Ccvi187

volume JH—

192

0xc0

1100 0000

bit(6-7)=H = 4EXFE

CV188

FIVI-b

23

0x17

0001 0111

bit(7-6)=75 M #l{E (00:both 01:fwd 10:rev 11:both
bit(0-4) = Fno$g E(0-28)
3EE

CVv189

volume ZJLJ—)l

192

0xc0

1100 0000

bit(6-7)=H = 4EX[E
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